

# County Distribution Detail Report through 02/02/2018

#### Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,236	1,870	30	3,136	\$3,920.00	\$138.67	\$3,781.33	0.70	\$2,646.93
							Entity Total	l:	\$2,646.93
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$2,646.93
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	4,370	11,275	96	15,741	\$19,676.25	\$412.79	\$19,263.46	0.70	\$13,484.42
							Entity Total	l:	\$13,484.42
							Adjustment	t:	\$0.00
							Total Amou	int:	\$13,484.42
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	957	1,028	4	1,989	\$2,486.25	\$63.54	\$2,422.71	0.70	\$1,695.90
							Entity Total	l:	\$1,695.90
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,695.90
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,266	3,776	10	6,052	\$7,565.00	\$151.74	\$7,413.26	0.70	\$5,189.28
							Entity Total	l:	\$5,189.28
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$5,189.28

### **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	11,087	19,378	221	30,686	\$38,357.50	\$837.47	\$37,520.03	0.70	\$26,264.02
							Entity Total	l:	\$26,264.02
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$26,264.02
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	11,119	24,651	185	35,955	\$44,943.75	\$944.81	\$43,998.94	0.70	\$30,799.26
							Entity Total	l:	\$30,799.26
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$30,799.26
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,853	3,525	6	6,384	\$7,980.00	\$167.68	\$7,812.32	0.70	\$5,468.62
							Entity Total	l:	\$5,468.62
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$5,468.62
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	622	401	1	1,024	\$1,280.00	\$25.61	\$1,254.39	0.70	\$878.07
							Entity Total	l:	\$878.07
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$878.07
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,817	6,029	17	8,863	\$11,078.75	\$231.40	\$10,847.35	0.70	\$7,593.15
							Entity Total	l:	\$7,593.15
							Adjustmen	t:	\$0.00

# Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	820	1,397	8	2,225	\$2,781.25	\$55.64	\$2,725.61	0.70	\$1,907.93
							Entity Tota	l:	\$1,907.93
							Adjustmen	t:	\$0.00
							Total Amor	unt:	\$1,907.93
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	3,098	5,017	14	8,129	\$10,161.25	\$207.33	\$9,953.92	0.70	\$6,967.74
							Entity Tota	l:	\$6,967.74
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,967.74
City of Box Elder, M	leade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	33	1,963	0	1,996	\$2,495.00	\$53.24	\$2,441.76	0.70	\$1,709.23
							Entity Tota	l:	\$1,709.23
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,709.23
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,059	2,619	225	3,903	\$4,878.75	\$116.48	\$4,762.27	0.70	\$3,333.59
							Entity Tota	l:	\$3,333.59
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,333.59
City of Sioux Falls,	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	5,291	20,706	1,104	27,101	\$33,876.25	\$777.47	\$33,098.78	0.70	\$23,169.15
							Entity Tota	l:	\$23,169.15

Adjustment:	\$0.00

Total Amount: \$23,169.15

CI	ar	k
•	٠.	٠.

11/2017

0

0

0

0

\$0.00

\$25.00

\$-25.00

0.70

\$-17.50

Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,563	2,296	11	3,870	\$4,837.50	\$101.77	\$4,735.73	0.70	\$3,315.01
							Entity Total	:	\$3,315.01
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,315.01
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,027	6,959	100	9,086	\$11,357.50	\$240.60	\$11,116.90	0.70	\$7,781.83
							Entity Total	:	\$7,781.83
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,781.83
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	8,329	18,030	163	26,522	\$33,152.50	\$698.88	\$32,453.62	0.70	\$22,717.53
							Entity Total	:	\$22,717.53
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,717.53
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,392	536	5	1,933	\$2,416.25	\$49.65	\$2,366.60	0.70	\$1,656.62
							Entity Total	:	\$1,656.62
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,656.62
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2017	3,717	5,038	30	8,785	\$10,981.25	\$242.77	\$10,738.48	0.70	\$7,516.94
							Entity Total:		\$7,499.44
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,499.44
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	5,260	13,726	227	19,213	\$24,016.25	\$489.15	\$23,527.10	0.70	\$16,468.97
							Entity Total:		\$16,468.97
							Adjustment:		\$0.00
							Total Amour	nt:	\$16,468.97
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,395	3,459	8	5,862	\$7,327.50	\$149.69	\$7,177.81	0.70	\$5,024.47
							Entity Total:		\$5,024.47
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,024.47
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,115	2,861	6	4,982	\$6,227.50	\$132.27	\$6,095.23	0.70	\$4,266.66
							Entity Total:		\$4,266.66
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,266.66
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,342	2,167	6	3,515	\$4,393.75	\$89.82	\$4,303.93	0.70	\$3,012.75
							Entity Total:		\$3,012.75
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,012.75
Edmunds									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,491	2,766	10	4,267	\$5,333.75	\$107.10	\$5,226.65	0.70	\$3,658.66
							Entity Total:	:	\$3,658.66
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,658.66
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	3,535	4,092	22	7,649	\$9,561.25	\$193.65	\$9,367.60	0.70	\$6,557.32
							Entity Total:	:	\$6,557.32
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,557.32
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	975	1,388	5	2,368	\$2,960.00	\$67.73	\$2,892.27	0.70	\$2,024.59
							Entity Total:	:	\$2,024.59
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,024.59
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,480	4,996	159	7,635	\$9,543.75	\$212.75	\$9,331.00	0.70	\$6,531.70
							Entity Total:	:	\$6,531.70
							Adjustment:	:	\$0.00
							Total Amou	nt:	\$6,531.70
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,999	3,388	14	5,401	\$6,751.25	\$145.48	\$6,605.77	0.70	\$4,624.04
							Entity Total:	:	\$4,624.04
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,624.04

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,099	1,366	5	2,470	\$3,087.50	\$61.77	\$3,025.73	0.70	\$2,118.01
							Entity Total	:	\$2,118.01
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,118.01
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,963	3,524	7	5,494	\$6,867.50	\$137.61	\$6,729.89	0.70	\$4,710.92
							Entity Total	:	\$4,710.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,710.92
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,291	2,662	13	3,966	\$4,957.50	\$101.68	\$4,855.82	0.70	\$3,399.07
							Entity Total	:	\$3,399.07
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,399.07
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,011	2,913	19	3,943	\$4,928.75	\$102.23	\$4,826.52	0.70	\$3,378.56
							Entity Total	:	\$3,378.56
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,378.56
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	744	830	1	1,575	\$1,968.75	\$49.69	\$1,919.06	0.70	\$1,343.34
							Entity Total	:	\$1,343.34
							Adjustment	:	\$0.00

### Hughes

riagrics									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	4,815	14,043	199	19,057	\$23,821.25	\$501.59	\$23,319.66	0.70	\$16,323.76
							Entity Total	l:	\$16,323.76
							Adjustment	t:	\$0.00
							Total Amou	int:	\$16,323.76
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,861	6,413	40	8,314	\$10,392.50	\$232.89	\$10,159.61	0.70	\$7,111.73
							Entity Total	l:	\$7,111.73
							Adjustment	t:	\$0.00
							Total Amou	int:	\$7,111.73
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	779	1,039	1	1,819	\$2,273.75	\$46.61	\$2,227.14	0.70	\$1,559.00
							Entity Total	l:	\$1,559.00
							Adjustment	t:	\$0.00
							Total Amou	int:	\$1,559.00
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	706	762	0	1,468	\$1,835.00	\$36.71	\$1,798.29	0.70	\$1,258.80
							Entity Total	l:	\$1,258.80
							Adjustment	t:	\$0.00
							Total Amou	int:	\$1,258.80
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	801	1,404	0	2,205	\$2,756.25	\$56.37	\$2,699.88	0.70	\$1,889.92
							Entity Total	l:	\$1,889.92

Adjustment:	\$0.00

Total Amount: \$1,889.92

Jones
-------

oones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	586	621	6	1,213	\$1,516.25	\$30.36	\$1,485.89	0.70	\$1,040.12
							Entity Total	:	\$1,040.12
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,040.12
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,497	3,861	27	5,385	\$6,731.25	\$138.17	\$6,593.08	0.70	\$4,615.16
							Entity Total	:	\$4,615.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,615.16
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	3,133	9,565	59	12,757	\$15,946.25	\$342.84	\$15,603.41	0.70	\$10,922.39
							Entity Total	:	\$10,922.39
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,922.39
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	8,582	15,682	129	24,393	\$30,491.25	\$631.58	\$29,859.67	0.70	\$20,901.77
							Entity Total	:	\$20,901.77
							Adjustment	:	\$0.00
							Total Amou	nt:	\$20,901.77
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	4,762	21,060	1,400	27,222	\$34,027.50	\$768.26	\$33,259.24	0.70	\$23,281.47

Entity Total:	\$23,281.47
Adjustment:	\$0.00

Percent

\$23,281.47

**Total Amount:** 

Lyman	
-------	--

Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,404	1,737	2	3,143	\$3,928.75	\$84.76	\$3,843.99	0.70	\$2,690.79
							Entity Total	:	\$2,690.79
							Adjustment	:	\$0.00
							Total Amou	int:	\$2,690.79
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,012	2,673	30	4,715	\$5,893.75	\$136.99	\$5,756.76	0.70	\$4,029.73
							Entity Total	:	\$4,029.73
							Adjustment	:	\$0.00
							Total Amou	int:	\$4,029.73
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,605	4,060	14	6,679	\$8,348.75	\$167.39	\$8,181.36	0.70	\$5,726.95
							Entity Total	:	\$5,726.95
							Adjustment	:	\$0.00
							Total Amou	int:	\$5,726.95
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,156	1,679	1	2,836	\$3,545.00	\$82.88	\$3,462.12	0.70	\$2,423.48
							Entity Total	:	\$2,423.48
							Adjustment	:	\$0.00
							Total Amou	int:	\$2,423.48
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

12/2017	4,146	15,799	223	20,168	\$25,210.00	\$534.82	\$24,675.18	0.70	\$17,272.63
							Entity Total	l:	\$17,272.63
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$17,272.63
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	634	630	0	1,264	\$1,580.00	\$31.61	\$1,548.39	0.70	\$1,083.87
							Entity Total	l:	\$1,083.87
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$1,083.87
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2017	2	0	0	2	\$2.50	\$0.05	\$2.45	0.70	\$1.72
12/2017	1,046	1,749	6	2,801	\$3,501.25	\$70.75	\$3,430.50	0.70	\$2,401.35
							Entity Total	l:	\$2,403.07
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$2,403.07
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2017	12,683	1	0	12,684	\$15,855.00	\$316.97	\$15,538.03	0.70	\$10,876.62
12/2017	49,795	138,508	2,181	190,484	\$238,105.00	\$5,020.49	\$233,084.51	0.70	\$163,159.16
							Entity Total	l:	\$174,035.78
							Adjustment	t:	\$0.00
							Total Amou	ınt:	\$174,035.78
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2017	-12,354	0	0	-12,354	\$-15,442.50	\$-308.74	\$-15,133.76	0.70	\$-10,593.63
12/2017	1,574	5,075	11	6,660	\$8,325.00	\$192.99	\$8,132.01	0.70	\$5,692.41
							Entity Total	l:	\$-4,901.22

Total Amount:
---------------

\$0.00

# Pennington

12/2017

14

2,742

3

2,759

Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2017	5,572	0	0	5,572	\$6,965.00	\$139.30	\$6,825.70	0.70	\$4,777.99
12/2017	28,271	70,882	1,262	100,415	\$125,518.75	\$2,669.30	\$122,849.45	0.70	\$85,994.62
							Entity Tota	l:	\$90,772.61
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$90,772.61
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2017	-5,903	0	0	-5,903	\$-7,378.75	\$-147.58	\$-7,231.17	0.70	\$-5,061.82
12/2017	1,869	2,285	12	4,166	\$5,207.50	\$114.94	\$5,092.56	0.70	\$3,564.79
							Entity Tota	l:	\$-1,497.03
							Adjustmen	t:	\$1,497.03
							Total Amou	ınt:	\$0.00
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	1,397	1,775	4	3,176	\$3,970.00	\$79.43	\$3,890.57	0.70	\$2,723.40
							Entity Tota	l:	\$2,723.40
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,723.40
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	4,054	4,594	10	8,658	\$10,822.50	\$237.94	\$10,584.56	0.70	\$7,409.19
							Entity Tota	l:	\$7,409.19
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,409.19
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$3,448.75

\$69.15

\$3,379.60

0.70

\$2,365.72

							Entity Total:	:	\$2,365.72
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,365.72
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,160	4,426	8	6,594	\$8,242.50	\$168.67	\$8,073.83	0.70	\$5,651.68
							Entity Total:	:	\$5,651.68
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,651.68
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	801	2,120	14	2,935	\$3,668.75	\$75.36	\$3,593.39	0.70	\$2,515.37
							Entity Total:	:	\$2,515.37
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,515.37
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	827	1,192	1	2,020	\$2,525.00	\$50.59	\$2,474.41	0.70	\$1,732.09
							Entity Total:	:	\$1,732.09
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,732.09
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	0	8	1	9	\$11.25	\$0.55	\$10.70	0.70	\$7.49
							Entity Total:	:	\$7.49
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7.49
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2017	2,819	3,793	17	6,629	\$8,286.25	\$168.00	\$8,118.25	0.70	\$5,682.78
							Entity Total	:	\$5,682.78
							Adjustment	:	\$0.00
							Total Amou	ınt:	\$5,682.78
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,520	5,936	13	8,469	\$10,586.25	\$213.86	\$10,372.39	0.70	\$7,260.67
							Entity Total	:	\$7,260.67
							Adjustment	:	\$0.00
							Total Amou	ınt:	\$7,260.67
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	3,621	10,011	397	14,029	\$17,536.25	\$417.47	\$17,118.78	0.70	\$11,983.15
							Entity Total	:	\$11,983.15
							Adjustment	:	\$0.00
							Total Amou	int:	\$11,983.15
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	2,385	3,579	70	6,034	\$7,542.50	\$151.55	\$7,390.95	0.70	\$5,173.67
							Entity Total	:	\$5,173.67
							Adjustment	:	\$0.00
							Total Amou	int:	\$5,173.67
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2017	5,926	14,851	90	20,867	\$26,083.75	\$534.34	\$25,549.41	0.70	\$17,884.59
							Entity Total	:	\$17,884.59
							Adjustment	::	\$0.00
							Total Amou	int:	\$17,884.59
Totals	240,914	561,187	8,963	811,064	\$ 1,013,830.00	\$ 21,642.37	\$ 992,187.63		